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Roll No. (vuqØekad) ------------------------------		  Code (dwV la-) % 820176-SA2(M)

class (d{kk) % VIII
social science

(lkekftd foKku)
(Summative Assessment - II) 

(ladyukRed ewY;kadu & II)
Time Allowed : 3 Hours						      Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90

General Instructions :
1.	 There are 31 questions in all.
2.	 Marks for each question are indicated against it.
3.	 All questions are compulsory.
4.	 Write the same question number as given in the question paper while answering a 

question in your answer book.
5.	 (i)	 Answer to MCQs of 1 mark each should be out of (a), (b), (c) or (d) only.
	 (ii)	 Answer to each question of 3 marks should not exceed 60 words.
	 (iii)	Answer to each question of 5 marks should not exceed 100 words.
6.	 Both the Maps should be attached inside the answer book.

lkekU; funsZ'k %
1-	 bl iz'u i=k ds dqy 31 iz'u gSaA
2-	 izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA
3-	 lHkh iz'u vfuok;Z gSaA
4-	 viuh mÙkj iqfLrdk esa mÙkj fy[krs le; iz'u&i=k esa fn;k x;k iz'ukad gh fy[ksaA
5-	 (i)	 1 vad ds cgq&oSdfYid iz'uksa dk mÙkj (a), (b), (c) vFkok (d) esa ls gh gksuk pkfg,A
	 (ii)	3 vadksa ds çR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
	 (iii)	5 vadksa ds çR;sd iz'u dk mÙkj 100 'kCnksa ls vf/d ugha gksuk pkfg,A
6-	 nksuksa ekufp=kksa dks viuh mÙkj iqfLrdk ds Hkhrj layXu dhft,A

1.	 Mineral fuels are found in which one of the following rocks?			 

(a)	 Metamorphic rocks	 (b)	 Sedimentary rocks		

(c)	 Igneous rocks	 (d)	 Sandstone		   

[kfut rsy] fuEufyf[kr 'kSyksa esa ls fdl esa ik;s tkrs gSa\	  

(a)	 dk;kUrfjr 'kSy	 (b) 	 volknh 'kSy				  

(c) 	 vkXus; 'kSy	 (d) 	 jsrhyh 'kSy

Please  check that this question 
paper contains 31 questions 
and 10 printed pages.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k 
esa 31 iz'u rFkk 10 Nis gq, ì"B gSaA

1



VIII-SOCIAL SCIENCE
( 2 )

2.	 Identify the artificial fibre from the following.	 

(a)	 Rayon	 (b)	 Cotton		   

(c)	 Jute		 (d)	 Silk			    

fuEufyf[kr esa ls Ñf=ke js'ks dks igpkfu,A	  

(a)	 js;kWu		 (b) 	 dikl					   

(c) 	 twV		  (d) 	 js'ke

3.	 Where is the Silicon Valley of India located?						    

(a)	 Noida	 (b)	 Bengluru				    

(c)	 Ahmedabad	 (d)	 Pune	  

Hkkjr dh ^flfydkWu oSyh* dgk¡ vofLFkr gS\ 	  

(a)	 uks,Mk	 (b) 	 csaxyq#				  

(c) 	 vgenkckn	 (d) 	 iq.ks

4.	 Which one of the following regions has high density of population.			 

(a)	 Monsoon Region	 (b)	 Arid Region				  

(c)	 Polar Region	 (d)	 Temperate Region	  

fuEufyf[kr esa ls fdl {ks=k dk tula[;k ?kuRo vf/d gS\		  

(a)	 ekulwu {ks=k	 (b) 	 catj {ks=k				  

(c) 	 èkzqoh; {ks=k	 (d) 	 'khrks".k {ks=k

5.	 The summer capital of British India was	  

(a)	D ehradun	 (b)	 Shimla				  

(c)	 Manali	 (d)	D arjeeling		   

fczfV'k Hkkjr dh xfeZ;ksa esa jkt/kuh dgka gksrh Fkh\				     

(a)	 nsgjknwu	 (b) 	 f'keyk				  

(c) 	 eukyh	 (d) 	 nkftZfyax

6.	 The Sharda Act of 1929 was applicable to 						    

(a)	 All people living in India	 (b)	 All Hindus living in India.		

(c)	 All Muslims living in India	 (d)	 All Anglo-Indians living in India 

1929 dk 'kkjnk ,DV ykxw gksrk Fkk &					      

(a)	 Hkkjr esa jgus okys lHkh yksxksa ij	 (b) 	 Hkkjr esa jgus okys lHkh fgUnqvksa ij 

(c) 	 Hkkjr esa jgus okys lHkh eqlyekuksa ij	 (d) 	 Hkkjr esa jgus okys lHkh ,aXyks&bfUM;Ul ij
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7.	 From where was the epic Dandi March started by Gandhiji?	  

(a)	D andi	 (b)	 Sabarmati				  

(c)	 Ahmedabad	 (d)	 Kheda				  

,sfrgkfld MkaMh ekpZ dgka ls 'kq# gqbZ Fkh\							     

(a)	 MkaMh		 (b) 	 lkcjerh				  

(c) 	 vgenkckn	 (d) 	 [ksM+k

8.	 Which one of the following is the basic qualification required to be appointed 

as a minister in the Union Council of Ministers?				     

(a)	 S/he should be member of Lok Sabha	  

(b)	 S/he should be member of Rajya Sabha				  

(c)	 S/he should be member of either house of the Parliament.	 

(d)	 S/he should be member of any of the state legislature.			    

dsUæh; efU=kifj"kn esa eU=kh fu;qDr gksus ds fy, fuEufyf[kr esa ls dkSu lh ;ksX;rk  

vk/kjHkwr gS\	  

(a)	 mls yksdlHkk dk lnL; gksuk pkfg,		   

(b) 	 mls jkT;lHkk dk lnL; gksuk pkfg,		   

(c) 	 mls laln ds fdlh ,d lnu dk lnL; gksuk pkfg,A		   

(d) 	 mls fdlh jkT; dh fo/kulHkk dk lnL; gksuk pkfg,A

9.	 A "Tax evasion" case will be heard in -		   

(a)	 A Lok Adalat	 (b)	 A Revenue Court			 

(c)	 A Civil Court	 (d)	 A Criminal Court	  

^VSDl pksjh* dk eqdnek fdl vnkyr esa lquk tkrk gS\		   

(a)	 yksd vnkyr	 (b) 	 jktLo vnkyr				  

(c) 	 flfoy vnkyr	 (d) 	 vkijkf/d vnkyr

10.	 How many tenants were formulated by the mentor of Bishnois?			 

(a)	 Twenty five	 (b)	 Twenty Seven	  

(c)	 Twenty Nine	 (d)	 Thirty one				  

fc'uksb;ksa ds xq#vksa }kjk fdrus fl¼kUr cuk, x, Fks\						   

(a)	 25		  (b) 	 27					  

(c) 	 29		  (d) 	 31
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11.	D efine agriculture why agricultural development has become important in 

recent times.		   

^Ñf"k* dks ifjHkkf"kr dhft,A fiNys o"kks± esa Ñf"k dk fodkl egRoiw.kZ D;ksa gks  

x;k gS\

12.	 Name two cereals crops of India. State the geographical conditions required  

for their growth under the following heads				     

(a)	 Soil		  (b)	 Rainfall	  

Hkkjr dh nks eq[; [kk| iQlyksa ds uke fyf[k,A fuEufyf[kr 'kh"kZdksa ds vUrxZr mudh 

mit ds fy, vko';d 'krks± dks fyf[k, &								     

(a)	 e`nk		 (b)	 o"kkZ

13.	 Which place is called 'Manchester of India' and why? Explain.				  

fdl LFkku dks Hkkjr dk ekupsLVj dgk tkrk gS vkSj D;ksa\ Li"V dhft,A

14.	 What is meant by industrial region? Mention two factors responsible for the 

development of an Industrial Region.		   

vkS|ksfxd {ks=k ls D;k vfHkizk; gS\ vkS|ksfxd {ks=k ds fodkl ds fy, mÙkjnk;h fdUgha 

nks dkjdksa dk mYys[k dhft,A

15.	 "De-urbanisation was a significant development during the British rule in 

India". Analyse the statement.								      

¶Hkkjr esa fczfV'k 'kklu ds nkSjku ^fo'kgjhdj.k* ,d egRoiw.kZ ?kVuk Fkh¸ dFku dk 

fo'ys"k.k dhft,A

16.	 Write any three differences between the moderates and the radicals.		

ujeiafFk;ksa vkSj xjeiafFk;kas ds chp dksbZ rhu vUrj fyf[k,A

17.	 Explain any three reasons for "Indian leaders to opt for a democratic set up in  

free India.							     

Hkkjrh; usrkvksa }kjk Lora=k Hkkjr esa yksdrkfU=kd O;oLFkk LFkkfir djus dks pquus ds 

dksbZ rhu dkj.k Li"V dhft,A

18.	 Explain the emergency powers of the President of India.			   

Hkkjr ds jk"Vªifr dh vkikrdkyhu 'kfDr;ksa dh O;k[;k dhft,A

1+2=3

1+1+1=3

1+2=3

1+2=3
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19.	 Write any three benefits of Lok Adalats for the people of India.			

Hkkjr ds yksxksa ds fy, yksd vnkyrksa ls gksus okys dksbZ rhu ykHk fyf[k,A

20.	 Explain the two political safeguards made for the Anglo-Indians in India.		

Hkkjr esa ,aXyks bfUM;u~l ds fy, fd, x, nks jktuhfrd lqj{kk mik;ksa dh O;k[;k 

dhft,A

21.	 You are on a visit to Sivakashi in Tamil Nadu. You notice many children  

below the age of ten working in cracker factories. Under which right you can 

help them to sue the employer? What should be done by the government to 

improve their condition?						       

eku yhft, vki rfeyukMq esa f'kokdklh dh ;k=kk ij gSaA vki ogka nl o"kZ ls de 

vk;q ds cPpksa dks iVk[kk iSQfDVª;kas esa dke djrs gq, ns[krs gSaA vki fdl vfèkdkj ds 

vUrxZr iSQDVªh ds ekfyd ds fo#¼ eqdn~ek djus esa mudh lgk;rk dj ldrs gSa\ 

ljdkj dks mudh gkyr lq/kjus ds fy, D;k djuk pkfg,\

22.	 Write any two needs and three methods of conservation of minerals.		

[kfutksa dh fdUgha nks vko';drkvksa vkSj muds laj{k.k ds fdUgha rhu rjhdksa dks 

fyf[k,A

23.	 Which four factors affect the distribution of population? Explain why do  

most of the people of the world prefer to live in plains?				  

tula[;k ds forj.k dks dkSu ls pkj dkjd izHkkfor djrs gSa\ Li"V dhft, fd nqfu;k 

ds vf/dka'k yksx eSnkuh {ks=kksa esa jgus dks izkFkfedrk D;ksa nsrs gSa\

	 or

	 Study the diagram given below and answer the following questions :-	 

(a)	D efine the term sex-ratio.	  

(b)	 Identify and write the year with lowest sex-ratio in India.				  

(c)	 Give two reasons for the decline of sex-ratio in India.	  

(d)	 Which year shows improvement in sex-ratio in India. State the reason.	  

uhps fn, fp=k dk vè;;u dhft, vkSj uhps fy[ks iz'uksa ds mÙkj nhft,A			 

(a)	 fyaxkuqikr dh ifjHkk"kk fyf[k,A								      

3

1½+1½=3

1+2=3

2+3=5

1+1+2 

+1=5
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(b)	 Hkkjr esa lcls fyaxkuqikr okys o"kZ dks igpkfu, vkSj fyf[k,A				 

(c)	 Hkkjr esa fyax vuqikr ?kVus ds dksbZ nks dkj.k fyf[k,A					   

(d)	 Hkkjr esa fdl o"kZ fyax vuqikr esa lqèkkj fn[kk;h fn;k\ dkj.k fyf[k,A

24.	 Explain the impact of reform movements on India.					   

Hkkjr ij lq/kj vkUnksyuksa ds izHkko dh O;k[;k dhft,A

25.	D escribe and five ways through which Indians opposed the British during  

the second mass movement.						       

nwljs tu vkUnksyu ds nkSjku Hkkjrh;ksa }kjk vaxzstksa dk fojks/ djus ds fdUgha ikap rjhdksa 

dk o.kZu dhft,A

26.	 Who was the chief architect of India's foreign policy? Mention any four  

features of India's foreign policy.							     

Hkkjr dh fons'k uhfr dk eq[; f'kYidkj dkSu Fkk\ Hkkjr dh fons'k uhfr dh fdUgha 

pkj fo'ks"krkvksa dk mYys[k dhft,A

27.	 Analyse the importance of the Prime Minister in the Indian Parliamentary 

system.								      

Hkkjrh; lalnh; iz.kkyh esa Hkkjr ds iz/kueU=kh ds egRo dk fo'ys"k.k dhft,A

28.	 Suppose you are a resident of a polluted city. What can you do to draw the 

attention of the court to the problem of pollution. Suggest any three  

measures to check pollution in your city.						       1+1+3=5

1+4=5
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eku yhft, fd vki ,d iznwf"kr uxj ds oklh gSaA vki iznw"k. dh leL;k ds izfr 

vnkyr dk è;ku vkdf"kZr djus ds fy, D;k dj ldrs gSa\ vius 'kgj esa iznw"k.k jksdus 

ds dksbZ rhu mik; lq>kbZ;sA

29.	 When was mandal commission set up? Mention any four facts related  

to Mandal Commission.						       

e.My vk;ksx dk xBu dc gqvk Fkk\ bl vk;ksx ls lEcfU/r fdUgha pkj rF;ksa dk 
mYys[k dhft,A

	 or (vFkok)

	 State any five facts about the Musahar Community.			    

eqlkgkj leqnk; ds ckjs esa dksbZ ik¡p rF; fyf[k,A

30.	 (i)	 Two features (A) and (B) are marked on the given outline political map  

	 of India. Identity these features with the help of information given below  

	 and write their correct names on the lines marked on the map.			 

	 (A)	 The state to which Jyotiba Phule belonged.			    

	 (B)	 The city where Jallianwala Bagh massacre took place.			

(ii)	O n the same political map of India locate and label the following 		

	 (C)	 The place where Moderates and extremist united.			 

(i)	 fn, x, Hkkjr ds jktuhfrd js[kk ekufp=k eas nks y{k.k ^A*  rFkk ^B*  fpfUgr  
	 fd, x, gSaA uhps nh xbZ tkudkjh ds vkèkkj ij bu y{k.kksa dh igpku dhft, vkSj  
	 muds lgh uke ekufp=k esa [khaph xbZ js[kkvksa ij fyf[k,A				  
	 (A)	T;ksfrck iqQys ls lEcfU/r jkT;					      
	 (B)	 tkfy;kaokyk ckx dh ?kVuk ls tqM+k uxj 				     
(ii)	 mlh ekufp=k esa fuEufyf[kr dks n'kkZb, vkSj uke fyf[k,A				  
	 (C)	og LFkku tgka uje iaFkh vkSj xje iafFk;ksa esa ,drk gqbZ FkhA

	 For visually impaired students only in lieu of Q. No. 30	  
ç-la- 30 ds LFkku ij dsoy n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u 

(a)	 Name the place where home rules league was established.	 

(b)	 Name the place where congress split in 1907.	  

(c)	 Name the place from where Veersalingam Kandukuri started the reform  

	 movement.								      

(a)	 ml LFkku dk uke fyf[k, tgka gkse #y yhx dh LFkkiuk gqbZ FkhA			 

1+4=5
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(b)	 ml LFkku dk uke fyf[k, tgka 1907 esa dkaxzsl ij foHkktu gqvk FkkA			
(c)	 ml LFkku dk uke fyf[k, tgka ls ohjlkfyaxe~ dkUMqdqjh us lq/kj vkUnksyu 'kq#  
	 fd;k Fkk\

31.	 (i)	 Two features (A) and (B) are marked on the given outline political map  

	 of the world. Identify these features with the help of following  

	 information given below and write their correct names on the lines  

	 marked on the map :-			    

	 (A)	 An important coal producing country of Europe.				  

	 (B)	 An Iron and Steel manufacturing country of Africa.			 

(ii)	O n the same outline Political map of the world, locate and label the  

	 following with appropriate symbols.		   

	 (C)	 Canada - An Important Cotton Textile Centres.	 

	 (D)	 Venezuela - An Important iron producing country of south America. 

(i)	 fn, x, fo'o ds jktuhfrd js[kk ekufp=k esa nks y{k.k ^A* vkSj ^B* fpfUgr fd,  
	 x, gSaA uhps nh xbZ tkudkjh ds vkèkkj ij bu y{k.kksa dks igpkfu, vkSj ekufp=k  
	 esa [khaph js[kkvksa ij muds lgh uke fyf[k,A	 
	 (A)	 ;wjksi dk egRoiw.kZ dks;yk mRiknd ns'k	 
	 (B)	vçQhdk dk ykSg vkSj bLikr fofuekZrk ns'k	 
(ii)	 mlh ekufp=k ij fuEufyf[kr dks mi;qDr ladsrksa ls n'kkZb, vkSj muds lgh uke  
	 fyf[k,A							        
	 (C)	 dukMk & ,d egRoiw.kZ lwrh oL=k dsUæ	 
	 (D)	 csUtq,yk & nf{k.kh vesfjdk dk egRoiw.kZ ykSg mRiknd ns'k

	 Alternative question for visually impaired students only in lieu of Q. No. 31	 
ç-la- 31 ds LFkku ij dsoy n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u		

31.1.	Mention an important iron producing country of North America.	 

31.2.	Name the cotton textile manufacturing country of Asia.			 

31.3.	Which is an important iron and steel manufacturing country of Asia.		

31.4.	Name the bauxite producing country of South America.		   

31.1.	mÙkj vesfjdk ds ,d egRoiw.kZ ykSg mRiknd ns'k dk mYys[k dhft,A	 
31.2.	,f'k;k ds lw=kh oL=k fofuekZrk ns'k dk uke fyf[k,A	  
31.3.	,f'k;k dh egRoiw.kZ ykSg vkSj bLikr fofuekZrk ns'k dkSu lk gS\	  
31.4.	nf{k.k vesfjdk ds ckDlkbV mRiknd ns'k dk uke fyf[k,A

1×4=4

1×4=4
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Roll No. (vuqØekad) _____________			  India-Political (Hkkjr&jktuhfrd)
Map for Question No. 30 (ç-la- 30 ds fy, ekufp=k)
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Roll No. (vuqØekad) _____________			  World-Political (lalkj&jktuhfrd)
Map for Question No. 31 (ç-la- 31 ds fy, ekufp=k)
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